
Calculations of Foundations_02

Convert all measurements to metres going 
to 3 decimal places.

Where to foundations are the same 
measurements use of follow the example

(8.300x.600x.300=1.494) x 2= 2.988

Name _______________________________ Date ____/____/____

Calculate Volume of the Foundation?

Calculate 10% of A?

10% of A?

Total  of A & B?Volume

Date ____/____/____

Assessors Name _______________________________

Assessors Signature _______________________________

6000x500x400mm

Length  = 6000mm Width  = 500mm Depth = 400mm

Length into m? 

Width  = into m?

Depth = into m?

?
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